
What 
is

doing?

PRESENT 
CONTINUOUS

START



Make a sentence in the present continuous tense 
by using the verb corresponding to the picture.



What is Super Mario doing?

He is greeting

1/20

HINT



What is he doing?

He is driving

2/20

HINT



What is he doing?

He is riding a horse
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HINT



What is he doing?

He is riding a motorbike

4/20

HINT



What is he doing?

He is drinking

5/20

HINT



What is he doing?

He is eating a mushroom

6/20

HINT



What is he doing?

He is reading

7/20

HINT



What is he doing?

He is flying

8/20

HINT



What is he doing?

He is playing tennis

9/20

HINT



What is he doing?

He is playing basketball

10/20

HINT



What is he doing?

He is jumping

11/20

HINT



What is he doing?

He is singing

12/20

HINT



What is he doing?

He is sleeping

13/20

HINT



What is he doing?

He is running

14/20

HINT



What is he doing?

He is thinking

15/20

HINT



What is he doing?

He is dancing

16/20

HINT



What is he doing?

He is working

17/20

HINT



What is he doing?

He is painting

18/20

HINT



What is he doing?

He is skating

19/20

HINT



What is he doing?

He is having a bath

20/20

EXITHINT


